
   Roltechnik a.s.; Czech Republic, 56933 T eba ov 160,
      tel.:+420 461 324 301, fax: +420 461 324 297,
http//:www.roltechnik.cz; e-mail: objednavky@roltechnik.cz

GDN2

M9583

R04

1



a
b

a
b

Y

8 8

54
54

16
14

2
0

Y

14

2
016

Y

GDN2

. Y (min) Y (max)

1100 1060 1110

1200 1160 1210

1300 1260 1310

1400 1360 1410

1500 1460 1510

2



7. 8x

M0511

8. 8x

M0811

9. 8x

M5974

10. 8x

M5975

11. 4x
M5924

12. 4x

M5925

15. 2x

M2651

6
3,9x38

18. 1x

M6596

19. 1x

M6595

4. 2x

20. 1x

2. 2x
3. 2x

13. 2x

ND01-2844

23. 2x

ND01-2843

14. 2x

M6594

21. 2x

M8018

6. 2x

P2294

26. 1x

M6646

29.1x
M6645

30. 2x

M1916

16. 1x
MA0854

17. 1x
MA0853

22. 1x

25. 1x

3



C1

A

A

B

C

D

C2

A

A

B
B

C

D

6


7

x=x

4

4

4

4

4

4

7

8

4



GF

F
G

MAX

OK

MIN

OK

F

F

F

F

G

G

G

G

10

11

9

10

9

12

5+ mm -20 mm

(DE) Marke BLAU (äußere))

(FR) Repčre BLEU (EXTERIEUR)

(GB) Sing BLUE (EXTERIOR)

(CZ) Modrý čtvereček (EXTERIER)

4 4

2 2

2

(DE) Behandetten Seite (INNERE)

(FR) Face traitée (INTERIEUR)

(GB) Treated side (INTERIOR)

(CZ) Ošetřená strana (INTERIER)

.

5



M6x20 is only for 8mm GLASS!!!

M6x18 is only for 6mm GLASS!!!

Attention

6



N2

K

L

I

J

K

M

N1

OP

I

J
K

L

M

N1

N2

N2

OP

3
m
m

15

2

J

I

13 23 14

2
0

13

13

30

3

3

16 17

3

23

15

2

7



I,J,K

I,J,K

90°

45°-

90°

45°-

2
3

13,(23)

13(23)

2

3

8mm6mm M6x20
M6x18

8



R

S

.

R

S

T T

20

20

18

20

19

18(19)

21
21

9



T1

T2
T3 T4

T5 T6 T7

45°

21

45°

10



U2

U1

U3

V

U1

U2U3

V

22

2

15

2
15

16 17

25

25

11



AA

AA

AB

AA

AA

AA
AB

SILICONE

SILICONE

SILICONE

SILICONE

12



AC

AD

AC

AD

6

~10mm

6

6

26

29

13



GDN2

1/2

P2294

ND01-2844

M6596

P85

P55

M5974

M5975

P2198

M4797

M4797

M5924 M6646 P33

V60

ND01-2844

M2651

M8018

MA0854

V61

M6594

14



GDN2

2/2

MA0853

V61

M2651

M8018

V60

M6645 M5925 M4797

P2198

M5975

M5974

P2294

P33

ND01-2843

M6594

ND01-2843

M6595

P33

15



P33 ND01-0973-00
P55 ND01-2422

1100 ND01-2428-11
1200 ND01-2428-12
1300 ND01-2428-12
1400 ND01-2428-14
1500 ND01-2428-14

1100 ND03-0403-00-02
1200 ND03-0403-00-02
1300 ND03-0278-00-02
1400 ND03-0403-00-02
1500 ND03-0278-00-02
1100 ND02-0556-00-02
1200 ND02-0557-00-02
1300 ND02-0557-00-02
1400 ND02-0558-00-02
1500 ND02-0558-00-02

P85

V60 clear glass

V61 clear glass

1616


